@ A"



.
H_OL
™
¢]

o
o|J

B
i






L]
AU




5. the W59 AAE BI, 97159 G Holg FahAlL.

@)

~
~

~-62.8cm-~~ /‘150111
@ 314cm? @ 628 cm? @ 942 cm?

@ 1256 cm? 3 1570 cm?






EoA o

AL

2]

7.

~
~

~
__OO

® RAe| ol EolHtt



%

Os =

=4yt

=

@ o] dA=F2

il d

ol



9. 1YY HNEE TE U759 AHolE FHAL.

2 cm |

O




10. ol 97]%59] %ol sem YUtk HAZAA AR wol7t
15,6 em? 219, 97150 Wro] Eeo] Aol @ cm 914 T3k
Q.

Qe -



11. 97152 RS B2, 9752 Byolg ToH 9.




12.

AYo

o] 14em <l Y7152 BH

17} 659.4 cm? &

@ 7em

3 6cm



13. HtxE0o] 15cm ¢l EYE 12 HHAE 252 o o] E7 Z87¢H
A2 & oA L.

Ct-
Qe e



4c

cm?



15. the A7Ee BEolAL ARGl R E FolAlS.

"T-18.84em-" " |5em

@ 150.76cm? @ 141.3cm? @ 132.66cm?

@ 130.88cm?3 3 114.08cm?3






o

Gl

@ el

et

]

CRONG) ® 66

® o0

® O, 06

® O, O,



18. <He]7F339.12cm? Q1 A7E9] AA=AYreh. ¥7]s9 2HolE

oA 9.




19. & 97159 Aol 1406.72cm® YUtk o] 97)%5 9] Bl @

3712
8cm
- TS
v'—'
~_
@ 6018.44cm? @ 5678.52cm? @ 5024cm?

@ 4019.2c¢ms 3 314cm3



20.

5 97)59] 210 25 FHHAL.

3cm



21. o YA=F 22 oA L.




22,




23.

@ol7} 141.30m? o] 3, %ol7k gem @ A=Y [
o] L 58 HPOAL,




&} 7ol

=1

24. o

o

3.cm

cm?

3c



A2 3]

7247} 212 thd o] Yol o] A2 L5HA] L. h

Z

1314 sto] ol Al <
m

of #2< B pht (= 241

’/ 2¢m
)
L

2crh

=
o
2

cm




